3. Vehicle A averages 14 miles per gallon of gasoline,
and Vehicle B averages 36 miles per gallon of
gasoline. At these rates, how many more gallons of

gasoline does Vehicle A need than Vehicle B to make a
1,008-mile trip?

25
28
44
50
72
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16. A car accelerated from 88 feet per second (fps) to
220 fps in exactly 3 seconds. Assuming the acceleration
was constant, what was the car’s acceleration, in feet
per second per second, from 88 fps to 220 fps ?

1
F. 1

1
G. 293
H. 44

1
J. 751

2
K. 102%
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48. Which of the following graphs best represents the DO YOUR FIGURING HERE.

absolute value of the balloon’s velocity, in meters per

hour, between 8:00 A.M. and 2:00 P.M. ?
(Note: Ignore acceleration and deceleration.)
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49. Which of the following phrases best describes the bal- // h/ A /' &/ ﬂ/ %é % //0 s f ;

loon’s motion between 10:30 A.M. and 12:00 noon?

i A. Descended, and then ascended more quickly
. B. Descended, and then ascended more slowly

"~ C. Stayed at the same altitude

D. Ascended, and then descended more quickly
o E. Ascended, and then descended more slowly

ACT-61B-SAMPLE
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GO ON TO THE NEXT PAGE.
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Paul travels from Rye to Eston at an average speed of 90 km/h
He travels for T hours.

Mary makes the same journey at an average speed of 70 km/h
She travels for 1 hour longer than Paul.

Work out the value of T
[4 marks]

Turn over for the next question



3. Vehicle A averages 14 miles per gallon of gasoline,
and Vehicle B averages 36 miles per gallon of
gasoline. At these rates, how many more gallons of
gasoline does Vehicle A need than Vehicle B to make a
1,008-mile trip?

25
28
4ol
50
72
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16. A car accelerated from 88 feet per second (fps) to
220 fps in exactly 3 seconds. Assuming the acceleration
was constant, what was the car’s acceleration, in feet
per second per second, from 88 fps to 220 fps ?

1
F. vy

1
G. 293
H. 44

1
J. 751

2
K. 1023
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48. Which of the following graphs best represents the DO YOUR FIGURING HERE.

absolute value of the balloon’s velocity, in meters per
hour, between 8:00 A.M. and 2:00 P.M. ?

(Note: Ignore acceleration and deceleration.)
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49. Which of the following phrases best describes the bal- '/ h/ A /' & / ﬂ/ %é % ﬁ&//ﬂ’f ;

loon’s motion between 10:30 A.M. and 12:00 noon?
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ACT-618-SAMPLE

Descended, and then ascended more quickly ) =l JV/
4 or ¥
eview) €%¢ Af/ﬁ

Descended, and then ascended more slowly ;
Stayed at the same altitude : /£ /4/{1_.

Ascended, and then descended more quickly . 4 4 QI/
Ascended, and then descended more slowly [/P fé’ ronN (= ét/ &
/|
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GO ON TO THE NEXT PAGE.



— - ~a v . 3 el STRY e L

: NN.. / i & hN\\\ zmco. III pue ] sjueipend) *yf -
7 a..\ : \w\\éﬁ% \\% [uo >w puv [ SjueIpeny) °f
0w ppror eg2 (2 L
Ml EES
JA oLy \ 7 -

ur 2y pruoft 217 4f L D -
oz (8+) P44 747 G S o
Ae s SaE o8 .

¢(S)ruepenb yorym ur a1e 5, g,y'V JO S90NI0A

* \'\ w\& N\ QL\ \\Q \QQ\\ L z—4=Apue¢g+x= X axoym (£, x) $31eUTPIO0D

WM, g 3urod oy st (£x) sa3euIpI009 PIM g Jutod yoeo

&WX \-\-\ M\&\Q‘\ N ' \ M\N\ w\.\K Jo 33ewr oy pue ‘Hgyvy uo pawiojiad ST uone[suen

V "(I'1-)0 Pue “(1°2-)g (¢'z-)V e soonIea sey Hgyy
'JH3H DNIENDI4 HNOA 0d “Mo1eq umoys aueld a1euIp1000 ({*x) pIEPURIS 3y} U] *0S

@ vV N7 PN N7 ST Y7 v v D




y/uny 6z °f

y/un] 01 T

q/un{ 1y

y/uny ¢ 3

y/uny 1¢ ¥
3(I191owWony 181U 3}

0} punoi) Inoy J19d s19jowo D] Ul paads SIY Sem JBUYAA "SPUOIIS 6/°6 UI Sep I919W-(0] Y} URI JUIIL) "¢



*39vd 1X3N IHL OL NO 09 gl

845-10V

_yzop=7
. *
omﬁ.vﬂ
mmﬁg

09

/ oy "D <

A 0 A

{sInoy ..T ur

so[rw ()9 S[eARI) I JT “Inoy Iod sofiw ur ‘paads aFeioAe
§,o[IqouwIojne ue ST JeYp\ ‘SINOY ul ol sjuasardal
7 pue ‘anoy Iad soqrw ur paads oSeroae sjuasardor 4

‘so[rur ul 9oueIsSIp Syussaidal p ‘44 = p [OUWIOY dY) U] g

5



—Z 22N Vg CF Jorpr P LT JFrrft o1 =17¢ °

{&meﬁmﬁ —tof BTy 2L 22 L% gy
Y UFT Y Nl B Yy n- gy
l\mw\\m\ww W\\Q\\v\ %\Qm‘,i § § WT=01-1
A TG Yt FS paveyrq MO

O HE o M

d

(eins 03 dn yojeo

0) 3Ye] [[IM UBS[ SPU0DAS JO IQUINU JY) SIAIS ‘1 JOJ
M PaAjos uaym ‘suolienba Suimo[[0} aM jo qAIYAL "BINS

01 dn yojea 03 puodas 1ad SIOPW $'7 JO 2l JUBISUOD

,\ \ © e Su1d3ol sueis ueof pue ‘puodas 1ad si9jowr 7 JO 918l
\§ W§§ K lueisuod e Je Juiddol s1 eyng ‘uear jo peaye sidaw (]
} ! s198 pue 30l 01 sonunuos eyng ‘ureunoj JulyurIp

'JH3H ONIHNODI4 HNOA 0d

!

e je sdois ueaf ‘yred ay) ur Sof Fururow 1oyl Suning ‘9p

GV VVVVVVVVE

2% <=9




@ = 2011-12.pdf (;
vl & | & i

27. A hot-air balloon 70 meters above the ground is falling
at a constant rate of 6 meters per second while another
hot-air balloon 10 meters above the ground is rising at
a constant rate of 15 meters per second. To the nearest
tenth of a second, after how many seconds will the
2 balloons be the same height above the ground?

8.9
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